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COMMON SECOND REVISION TEST - 2025

T Standard XII Reg.No.: 240119
CHEMISTRY :

Time: 3.00 hrs. Part - | Marks: 70

. Choose the correct answer: | 15x1=15

1. The metal oxide which cannot be reduced to metal by carbon is
| a) PbO b) ALLO, c) ZnO d) FeO
2. Assertion: Graphite conducts electricity

Reason : Ingraphite, successive carbon sheets are held together by weak
Vander Waals force.

a) Both are correct, reason explains assertion

b) Assertion is correct, but reason is wrong

c) Assertion is wrong, but reason is correct

d) Both are correct, but reason does not explain assertion
\ 3. Onhydrolysis, PCl, gives
: a) HzPO, b) PH, c) HzPO, d) POCI,

4. The actinoide elements which show the highest oxidation state of +7 are
a) Np,Pu,Am b) U,Fm,Th c) U, Th, Md d) Es, No, Lr

5.  Which among the following is not a neutral ligand?
'a) Agqua b) Ammine c¢) Oxalato d) Pyridine
6. Graphite and diamond are

a) Covalentand molecularcrystals b) lonicand covalent crystals
-c) Both covalentcrystals - d) Both molecular crystals

During the decompositi 2 to give dloxygen 48 g 0, is formed per
minute at cqgan of i
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- Nylon is an example of

‘a) (i)-C (ii)-D (iii)-A (iv)-B b) (i)-D (ii)-C (iii)-B (iv)-A
c) (i)-B (ii)-D (iii)-A (iv)-C d) (i)-A (ii)-D (iii)-C (iv)-B
How many Fardays of electricity are required for the following reaction to occur

MnO,~ — Mn?*

a) 5F b) 3F c) 1F d)7F

Hair cream is ' |

a) Gel b) Emulsion c) Solidsol  d)Sol

Carbolic acid is |

a) Phenol b) Picric acid c)) Benzoic acid  d) Phenyl acetic
acid

IUPAC name of Adipic acid is
a) Pentane dioic acid b) Butane dioic acid

c) Haxane dioic acid - d) Ethane dicic acid

Nitrobenzene on reaction with c:on.'HNO3/HZSO4 at 100°C forms which one of -

the following products? \

a) 1,4-dinitrobenzene b) 2,4,6-tri nitrobenzgne

c) 1,2-dinitrobenzene d) 1,3-dinitrobenzene
Which of the following base is not present in DNA? :

a) Adenine - b) Uracil c) Cytosine d) Guanine

b) polyamide c) Polyester d) Polysaccharide

a) Polythene
4 o b ‘ \ f,‘:’}‘:i?‘ < ;
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Complete the following reaction.
OH '

C,H,CoCl  Nitration
> A
OH'

- B (Major product)

Write the test for Carboxylic acid group.
Arrange the following into increasing order of basic strength.
CeHsNH,, CgHsN(CH,),, (C,H;s),NH and CH;NH, '
Part -1l
Answer any 6 questions. (Q.No.33 is compUIsory) 6x3=18
Explain Magnetic separation.
How will you prepare chlorine in the laboratory?
Water are inner transition elements?
Define rate law and rate constant.
What is common ion effect?
State Faraday’s law of electrolysis.
How will you prepare cinnamic acid from benzaldehyde?
Write a note on denaturation of proteins.
Write a short note on : (i) Gattermann reacﬁ_on (il) Gomberg reaction
Part - IV
Answer all the questions.  5x5=25
a) |) ﬁwe he.paslc requ:rement for vapour phase refining. (2)
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| b) i) The rate constant for a first order reaction is 1.54 x 1073 s71. Calculate
| | its half life time. (2)
ii) Give any three characteristics of jonic crystals (3)
36. a) i) Why is AC current used instead of DC in measuring the electrolytic
conductance? (2)

ii) lonic conductance at infinite dilution of Al** and 8042- are 189 and 160
mho. cm? equiv-'. Calculate the equivalent and molar conductance of

\ the electrolyte of Al,(SO,), at infinite dilution. (3)
(OR)
b) i) Whatis Tyndall effect? (2)
. i) Differentiate physorption and chemisorption. (3)
37. a) i) How do you prepare chloropicrin? (2)
ii) Write the note on Rosenmund reduction. (3) :
(OR)
b) What are the functions of lipids in living organism? |
38. a) i) How,do antiseptics differ from disinfectants? (2) ' I
i) Write a structural formula of Aspirin and Paracetamol. (3) |
(OR) o |

b) Anorgamccompound (A) with molecularformuIaC H 3N undergo reduction
ol S Y

with Nal Hgl Cf H.OH “'lves%on’fﬂbUnd (B) wnth mqlecularformula C2H-,N
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